w5 £ BRFRIEIY

308 (A) 1 B (K) 28 (K) 38 (K) 48 (&)
fi2 HERABRM (~98)
% MEE A MHE My PR
%0 | 2%8 | 3% %0 | 2% | 3% 140 | 2%8 . 3%A %2 | 2% 348 | %8 2% 348
NEEE B B B B
2 | nms | wx% EES EzE EES Rz
3|me @@ tes|we we @53 HE we B
4 |nem | EE HRE = AEE | EE | EE | 485 BDE @S
5| @& smz EE | s B2 BH | e | e B | EE  SEE | EE
REE | KBz REE
6 B/ #e e | B | B8 e
as OfRE ORBRBOES | ORBERBOEE | DARREDESE OR e 1Y
(38) (148) (248)
wl [4:00 | 15:06 ] 15:05 | 14:50 | 14:15
SENEBFE /e \
3] BHICASL 5 BABRBBEORTOTHLS | ‘
(B BIBORLTIRTIES JAGSERORTOTILY | o o)
G RIKTYOIDALRIEE | R (< 1
| SRLZAK.BAK MO | " o
o ;‘?é]”-d)if")iﬁ*b‘ﬁx’;‘ ! BHRVCARTATHS,
|18 SIEORSTCRLESY ; DB EE S,
(R ElZvFR TR LaH—% !
| Uk B1F4—K—L g EYIEHV
: [4FE3E] Unit3 Can you play dodgeball? :
W CE A2 VI S IS P (TN |
(8 81V AFr—

N

.




w5 £ BRFRIEIY

[7B78~78 1 18]

78 (A) 8 (K) 98 (K) 108 (K) 118 (&)

8 ey BMEE BES, BRARHE (K32 4)
-7
G EN NEERAIE

# AT e s PR Py

%8 | 2%0 | 3%A |48 | 2%8 3# %8 | 2% 348 %0 | 2#R 3% %8 | 248 | 3%
| | #Es  ms g% B B EE  EE  EE B
2|5z nex =3 BES BES EE sEE EE |ET #e =8
3|EE =E res me B HEE | EE EHE ne
4 = Zr 28 s B EE  smEE | EE
5 Rz #e BH EI |E8 B 2e | xE =8 #s
6 757 B He R | 2 | RKE | B2H =
4 DieR& O%aRLsH11Y
wf 14:50 [ I15:05 | I5:06 | 14:50 | 13:10
i s > e :
| SEOFBIE e N
(B BlBALFRORTOTHAY ALRSEORE || goge
: (3 |1KIKYDIHh AL M : SEEHTIEEEE web A
(B Bl sobIE |
(2 HEmoRFrRE RoRE
(B RIVBVIRBEOVUEERDE)
(B T]3rR&tR
(R EIZvASTRLHO—%
R BT R iR RYEBT (R
i [4MEIZE] Unit3 Can you play dodgeball? :
| BlEEHTALS \ /
R Bl ARAFr—



